'DPQU{Hng(zl 6\):‘ AgS8WM -

: E = A9, 23 M
C ADp - m" He = 39
Fiduie !

Nn-A

AR |
g . 2 (133,65-A8,58)2 1 = 5
ADV = (.\8,60 '.5'3.53.)3«'(-&3‘50 Aﬁ.“a’?) +( S8) %(5355 ARS g') +( 58160"38§5")

S ——

5-1

ADP = {0,000 4+ 0,0064 +0,0049 + 0,008 + &, 000U

44 ,.\
Ohop- QPSS e \A o "7

. 2 f - fp//
G ADP 4 O 05# O ’\\ 006 mm\ ;/ i > g i ’) o V € L«' //”‘ :
= 1o e e
",(-:, L /&7 e :/w > A\
d Adp :Iz)(x'v-i X 1 v L e I
e e

Ghe= - {(29,25-20000%.(:020 29281 (33,2548 20V " {12 31-1928) 2, (1929 B ?
5-1 | |

G Avp- ,q*o‘ooogﬁ 0,0004 +Q,0003+ Q,00094 ojcr)OOA

G)P\\-\‘) = W/L‘

i ‘0““’0;;4/
G p= 0,022 R00%mm | /

JD ,1 0062‘*00‘5 ot T e

10,003640,00'S - /G0 o
2 O 0 \,/‘\_‘/

6 no= "i % T ‘1\_ e / //
N 0,03%+ 005* =+ 00009 + 00025 [ 0053mm™
et TR e

Digitalizada com CamScanner



